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Answer all questions in the spaces provided.

Which of these is the equation of a straight line?
Circle your answer.

y = 6x? y=x*+6
What is 0.28 as a fraction of 0.8 ?
Circle your answer.
2 2
7 7

Circle the calculation that increases 240 by 7.5%

240 x 1.0705 240 x 1.705

| Do not write
oulside the
box

[1 mark] |

= |

[1 mark]

N~

[1 mark]

240 x 1.75
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3
- . . e e e T "] Do not write
i l outside the
4 box
5.3cm Not drawn
accurately
53cm 9.2¢cm
|
! 9.2cm
|
i
1
Circle the reason why the triangles are congruent. ‘
[1 mark] '
I
" ASA SAS SSS ‘
|
| |
| 5 Work out 80000000 + 200 l
. Give your answer in standard form. \
[ [2 marks] f
1 |
80, 000,000 ~200= Bogooo + )
| _ e =% 00,000 i
| - i o
‘r
| — —
1 .‘
i . : i o r
| ot -
| 5 |
; Answer C—I’ x \ O i i
|
|
1 l
i
|
| 1
i
|
‘ | | —
‘\ 6
Turn over »
l Illmollyl:! Im m’ 1B/M/Jun22/8300/1H
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6 (b)

|
i
|
l
|
i
1
L

Work out §—

12

: |

Give your answer as a whole number.
[2 marks] ’

S e SR (L

2-+

e oo

.. S

D= O

3x3:3x3:3:213-3:F|43:243
243 “

Answer

Simplify 8 x 2% x2*
Give your answer as a power of 2

8:0% , w2522

~6+ 4  [2marks]

=2

|
|
|
|
|

Answer

LI
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7 In a group of 98 students
‘ 25 study both Art and French
10 study Art but do not study French
41 study French. ’

Joel draws this Venn diagram to represent the information.

& = the group of 98 students
‘ A = the students who study Art
‘ F = the students who study French

48

Make two criticisms of his diagram.

| criism2 _\ O +LS5~\ 6+ —L" 8 = q hg&"ﬂgz”_‘sg— |

|

98 Aoo\d be (T |

Turn over for the next question

Turn over »

LT
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6
r Do not write
outside the
8 In a week, Samir is paid .
a basic hourly rate for the first 30 hours worked
an overtime hourly rate for any extra hours worked.
The graph shows his pay for working up to 40 hours in a week.
A
| I
700 1— - - - - :
850 . | , ] ! /
600 a ! /
550 ‘ HH-HH /
| 500 e e e e e
H Lt ! |
450 — ' m
oA TR
gty [T e
3501 , By 45 SEREN FENUE B
3001~
250+ — /
200 1 ik
R L T R
150 f——- WY A BT
100{— ries ‘
50+t
0 5 10 15 20 25 30 35 4
Hours worked

L
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9 (a)

9 (b)

7
= P T ) Donotwrie
outside the
Work out the ratio  basic hourly rate : overtime hourly rate -
Give your answer in its simplest form. ‘
[3 marks]

j_O\\ms basic {a&‘— i\bo . i
_10 Wouss overbre oy = Joo-U4S0 - 3{9\50 ]
\ \) ;
— — — —~

\50:050-15:25 - i
— > -
o = l
N T l
Answer __,3___ : H_S-_ - ;
|
|

In each box, write a fraction less than 1 to make a correct calculation.
[1 mark] i

> 1 3

= 21 10 |
|

In each box, write a decimal less than 1 to make a correct calculation.

[1 mark]
O-6 | x|O-1 | = 0.06
£

Turn over »
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8

Use a ruler and compasses in this question.

ABCD represents a garden.

A

™ et

A tree is to be planted in the garden.
The tree will be in the region that is closer to AB than to BC.

Label the region, R, where the tree could be planted.
Show all your construction lines.

i - b e ) Do not write
oulside the
box
D |
i
|
\
|
1
i
i
i
|
]
|
|
[3 marks] [
s
1B/M/Jun22/8300/1H
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9
[~ o T omem, | A= erem e ) e s e S == Do not write
. ‘, outside the
11 Here are two shapes, P and Q. | =
1 8 |
; Q
% of a circle, radius 20cm % of a circle, radius 15¢cm f
\ Not drawn |
il accurately |
!
t
: l
|
i
|
g |
|
l How many times bigger is the area of P than the area of Q? ‘
j You must show your working. 1
% o [4 marks] i
| B 0 el o O . 4 |
e 2|
| P %*'folo & 'QK"(’OO'T(’: Soc’h’cm_t
‘ - L 1 2. <
| R A wx\STz 52225 W=" O Wem™, |
| |
| G2 14w =300wW. |
| |
| |
| . \ N 1
i SO,, ? 1S Lk E.N,s b.gqqx‘.
| JJ |
w ‘.
! ,
i i
| Answer &__-__“ AT . ST 'l
\[
|
|
f —
] 7
f - s
Turn over b
W0
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10
| Do not write
outside the
box
12 In a game, two bags, A and B, contain cards.
Each card is marked Yes or No.
The table shows the number of each type of card in the bags.
8 —
Yes No |
Bag A ‘ 3 . 2 !
R IS ESS—
BagB | 1 | 9
In the game, a player picks one card at random from each bag.
The cards are then put back into the bags.
12 (a) Complete the tree diagram.
‘ [2 marks]
Bag A Bag B
|
\O Yes
3/ 5 Yes ‘
|
g ==, |
| .
{0 Yes
/ 5 No
C}/‘ 0 No 1
|
1
|
|
|
|
|
!
|
e T, e NI S

L
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‘12 (b)

I

11

| Do not write

outside the
. . . box
To win a prize, a player must pick two cards marked Yes.

450 people each play the game once. I

How many people are expected to win a prize? g
[3 marks] |

Vs My =103 pledad L L0 b, |

—

S5 65O |

3 B0 -3xd s Qipesge

— |

—

S A D0 Pe =

e e m————— - |
T o s vdn——

[2 marks] ’

w0 %=E ow (2] |
-6 |
i

I—

Turn over »
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114

15

M

12
15 workers can complete a job in 8 days. ,
How many more workers are needed to complete the job in 6 days? ;
Assume that all of the workers work at the same rate. |
[3 marks] |
KT e 8£ \20 work Aﬂ;t:j;ﬁs 1:‘_@\1, He |
__\eb. N — ,
|
— — - - - i = ~ I
sl Q\Oj ér:_ZQ ‘_wg(kgé_&pg .é_ cQLo:js, N
i
e e N e _ ——r
— & |
_lo =S5 =5 mofe  oackers . '
(
i
e i
Answer D  role wo(\<€f3 : ‘
i
!
i
i
|
The cross section of a prism has n sides. i
Circle the expression for the number of faces of the prism. }
[1 mark] |
1
1
n 2” 3n @ l
i
i
|
!
1B/M/Jun22/8300/1H
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13
= - S - o o . e i - i b | Do not write
| I oulsbizz the
16 Circle the letter of the possible sketch graph of  y =x* -4 ,
[1 mark]
| ™) . |
VA VA 5
|
Dlae & Sal_ 7 = |
\ |
I |
| |
c D i
YA y 4
|
| 0 5 0 X |
| |
|

Turn over for the next question

e A oS OIS oot it o | L

Turn over »
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14
17 75 people attend a clinic.
Their ages are recorded and a cumulative frequency diagram is drawn.
A
T e e = EE—
t |
i d gl |
80 T k ‘[ — .
| g . . J ey i
70 H at
|
s 4 R /
60— { ot
b 4 . A = - ’ . !
v | . l ]
50 4 ——— e 2 ) / i RS Bl
Cumulative — - : e i
frequency T / 13
40 i :
T
i i
30
201 .
281 A R 8 rwd banas na ks v 45 Runed sEadh shund Audah rukad swuds
101 — ‘ ‘/
0+ >
0 30 40 -50 60 70 80
Age (years)
I Sl

Do not write
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15
Do not write
outside the
A nurse makes a statement about the ages of the people at the clinic. oo
He says,
“More than twice as many people are in their 60s as in their 50s.”
Is he correct?
Tick a box.
W
Yes \/ No
Show working to support your answer.
[3 marks]
ﬁ.,g ) Q% ?\0. ~~60.. and wnder o
A ‘?_Q/Q\J\L_ Sl ander
—> 20 -\3 7| 7 bebueen Se. Bl ..é@ el
b6 .;?Logé@,.} o ondoader
LA A e e Yes,. Be nasse
s coyrveck. et U
Turn over for the next question 1
===
. = CheEial ln®
Turn over »

L
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16

g
g§s

18 12x% + 7x% + 3x — 10 = 2(ax® + x% + 2x - 5) + x(bx + ¢)

Work out the values of @, b and ¢.

2(ax P+l - S+ x(bx <)
=~ 2ax> x?+bx-lo+ bx*+cx

[3 marks]

ZV P L ot B oz —lo, |
o parig Coelfcels: 2oz 12=>a=€)
Wedplmmaly =5 .
EerEeT o=l

“Lax>. (L0)x" o (4+c)r ~\lo

- 6 - S e =)

’ ‘ Il “”Ié 1B/M/Jun22/8300/1H
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17
19 The first three terms of a sequenceare  x )y XV
The sequence is continued by multiplying the previous two terms.
2
G XY
19 (a) Circle the 5th term of the sequence.
[1 mark]
Xy x%y® 24 e
19 (b)  The 8th term of the sequence is Lyt ‘
The value of this term is negative.
What does this mean about the values of x and y ?
Tick one box for each row.
[2 marks]
Must be Must be Could be
‘ positive negative either
X \/
| y /
R
§ & \ oS Luc
_.(g:> — S CLL(.JO-QBV
So oc C oul v
Yeyly) o g e e
o) f\‘ wk;u\ a 'S .
Turn over for the next questlon [
I s i g P e ) - o e = e
Turn over »

i
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18
Ce : iy
20 Rearrange y= Sead to make x the subject. B
g [4 marks] |

AT S
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I

19
Five points are connected by vectors. (
i
Not drawn |
G accurately |
iz 1
a+6b 2a+ 15b 1
D
3a+b E I3
FG =2EH |
Work out FE in terms of a and b. !
[4marks]
B Eq Q,¢_,__+ GE--EG

e e E = ~Ja ~ l5‘9
LU ED+DH= 3asbr RAGE %
=bartb. |
TG 2ER = 2 (ba< o) = Sar bbb, |
1:& F—é Cl‘- ga*\‘%\o g o TR
) =fa b~ T
S s S ey e |
—_— {
Answer F-E :é&' b l
|
|
RS e B e il R
Turn over b

1B/M/Jun22/8300/1H
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20

o "] Do not write
outside the

22 Workout  0.68 — 0.45
Give your answer as a fraction in its simplest form.

0: 6 8%, .
_ (0-4555. _
SRR/ EE. = (Jx %

| et ~= 0-23

Ben lox=2-37

[5 marks]

x| O

)'\t .

o 1-33-093

4
Answer o2 M — é@

| ’Ilﬂl “I“ Il" |I|’ 1B/M/Jun22/8300/1H
20
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21
o T e T = ' - | Do not write
outside the
23 On the grid, identify the region represented by -

| x>3 and y>1 and x+y<7

Label the region R. r
5 < - I:"j‘ b [3 marks] |

Turn over for the next question

|
|
| |
e dte s, T ISR, |-

Turn over »

2 1 1B/M/Jun22/8300/1H
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22

—————ee i

" Do not write
11 outside the

|
24 (a) simplifyfaly & -1 L™
a 4a ‘

[2 marks] |I

_a  Lta Lo

|
, _“.é_ = 62&;?;(:5 ——
|
|

y +10y+21
-9

| niE 9 (ﬂ—k?) )( "37 .
| L\b—\\OL_,-tZ\ (q+‘§\5(g.\ +jr) |
| 55 u(u/zis (\@ww |
| ' |

) \AKL‘\T—“]’).
R s

124 (b)  Simplify fully  (»* - 3y) x

[4 marks]

Answer U\(U'&?)
s

L

1B/M/Jun22/8300/1H
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23
Do not write
outside the
25 Here is the speed-time graph for a 50-second journey. =
A
20+
Speed (m/s)
10+
0 T T T =i Y >
0 10 20 30 40 50
Time (s)
25 (a) Circle the acceleration, in m/s?, halfway through the journey.
[1 mark]
@ 2 20 25
25 (b) Work out the total distance travelled.
[2 marks]
:Dis_[:ax,\ce _?_.’.3\\(,!9 _9‘\:!1[\4_ -\”‘_a? C&ilme. | tuaa
]| 5
2 oo m(Gode) ) e Gow e
VAN =R ey - dgv Ja 6
Answer - 8__0 Q_; m
g
i Turn over »

L
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24
| S R = = e — e —— ST m—— e = = 1 Do not write
outside the
26 Zoe and Amy are playing a board game. -

| » They each have one disc and take tums to roll a fair, ordinary dice.
» The player moves their disc clockwise the number of spaces shown on the dice.
» The winner is the first player whose disc is on HOME at the end of a turn.

Here is the board after Amy’s turn.

HOME

|
|
l
Direction .@ .@ ?

| of play

} Work out the probability that Zoe wins within her next two turns.
[4 marks] |

| _ﬁZ‘OQ (oo wn \Dq (o\\ "q Ck} [A §g_=_d«2

| a) or _ﬁLZl;L:iJ\ ai . Jl
| D=, P2 0= V36 |
O(\.L_?') - \/36; |
: A}\A;-\q ’B'\G/SC, EOQQ/H«Q/‘ l:
| o = 6 |

Lo o » RSENPC N,

L
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25

Do not write
outside the
box

27 The grid shows the graph of y = f(x)

YA

=V

On the grid, draw the graph of y = —f(x)
[2 marks]

Turn over for the next question

Turn over »

L
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26

= T —a | = ) i ST ; = | Do not write

28 Work out the value of  (cos 30° x sin 45° x tan 60°)°

T e @/2 R ’

g de s 2 ‘./;Yi‘,__ SN
_tanbo-A3 . S

CS N7 S") (ff{—l)

Sl

-3

END OF QUESTIONS

A

1B/M/Jun22/8300/1H
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